PAIIMOHAJIHUA AJITEBAPCKH U3PA3U
( apyru geo )

Ynpoctu uspase:

1) 2x+3x= 6) 4x+5x=

2) 2x-3x= 7) 4x-5x=

3) —3x-2x%y= 8) —5x'y-3y=
4) —2ab’-5a’b = 9) —4a'b*-Ta’b=
5) (2a%*) = 10) (3a’%) =

Yupoctu uzpase:

1)2-(x=3)=

2) —4-(x-2)=

3) 20 (o 4 51-3) =
4) -3¢ (x+2) =
5) 5ut (- 3w+1) =
6) (x3)-(x-2)=
7) (x+4)-(x—-2) =
8) (x—3)-(x+5)=
9) (x+3)-(x+2)=
10) (x—4)-(x—1)=
11) (a-3b%)-(4-5ab) =

12) (xy+3)-(x—y)=



13) (a’h-4)-(a+b)=

14) (x+3y)-()cy3 +2):

. Ympocrtu uspase:

1) a'(a—l)—a-(a—z):
2) 3x-(x—1)-2-(1+ ") =

3) (4x—3)-(3x+4)—6x-(1+2x):

4) 2a-(3a” +4a+5)+(2a’ -1)-(-3a) =

5) (x—4)-(x+3)—(x-2)-(x+1) =

6) (2x—1)-(4x+3)—(1+2x)-(4x-2)=

. Yopoctu uspase:

1 (x—2)-(x—5)—2-(x—1)-(x+4):

2) x-(x—5)+x-(7x_3)_4.(2x_1),(x_3):

3) (3x—7)-(2x+1)—2x-(2x" —1) = x-(x+2)-(5-4x) =

4) (4x-7)-(3x=5)—x-(12x=11)-(x~1)0

5)5(3x° =2)+3-(5x=1)-(—x+2)=



5. Pemmwu jegHauune:
1) 3x—2-(4x—5)=0; 2)2-(x—3)—4=2;

3)3-(2x—1)+4x =17, 4) (x—3)-(x+2)—x* =0;

5) 6'(a+1)—3‘(a+2)=1; 0) 2~(z+1)+3‘(z+2)—4-(z—3)=5;




7) a’ +2a-(a+3)-3-(a+a’)=33; 8) (x—2)(x+3)—(x=5)-(x+4)=6;

9) x-(x+1)+x-(x—2)—(2x—3)-(x+4) =0. 10)(3x+5)-(4x—9)—4(x—1)-(3x—4) =2.
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